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Question 1 of 62 Primary 6 Science (Prelim) 2 pts

For each question, four options are given. One of them is the correct answer. (28 x 2
marks = 56 marks)

June wanted lo find out how the presence of carbon dicxide affects the rate of photosyniheasis,

Sha plated four identical pols of planis jn the garden under bright sunlight as shown in the
diagram bedow. nﬂ o cdor 008 oo

———twiaoden box

substanca that sezled plastic
L absorb carbon -~ bag
A dioaida
c D

Which sef-ups should June use o conduct her expedmeant?

A) A and Conly
B) AandD only
C) Band Conly
D) Band D only
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Question 2 of 62 Primary 6 Science (Prelim) 2 pts

Jana camed out an expariment using some fishes and hydrilla plants. A stopper was placed
gl the opening of each test fuba

— black box

Jane then placed 5 mi of solution X info each test tube. The colour of solution X chanpes In
the presence of different amounts of carbon dicdde as shown balow.

Increasing amount of carbon dioxide

] | |
i i I +
purpia resd yellow

All the sel-ups ware kot in tha sun for 3 hours while sel-up D was placed 1o a biack box for
the same durafion. Al the start of the experiment, tha colour of solution X in each test tube
was red.

Which of the fokowing zhows the most Tkely results in each tube after 3 houra?

A) Colour of solution X after 3 hours

A |B Cc D

red | yellow |purple |red

B) |a B c D

purple | purple |yellow | red

C) |[aA |B c D

red | purple |yellow | yellow

D) |a B c D

purple |yellow [ purple | yellow
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Question 3 of 62 Primary 6 Science (Prelim) 2 pts

Kandis set up an experdment as shown in the diagram below,

bubbles -
water __ | ﬂ [
] I distance
-
water plant ——= et
— _._,i =z
The graph below shows his results.
MNumber of gas bubbles
&
16 | - - .
14
12
10
g
B
F]
2
0 Distance from lamp (cm)

Based on the abova results, which one of the following is the comect conchusion?

A) The higher the rate of photosynthesis, the lower the intensity of light.
B) The higher the rate of photosynthesis, the higher the intensity of light.
C) The higher the intensity of light, the lower the rate of photosynthesis.
D) The higher the intensity of light, the higher the rate of photosynthesis.
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Question 4 of 62 Primary 6 Science (Prelim) 2 pts

Linda set up &n experiment a5 shovwn in the diagram below,

water —i=
baakar —
weatar planl —

She counted fia number of cxygen bubbles produced by the water pland per minute with
varying levels of ight infansity and her resulfs ane shown in table below.

Intansity of light Number of oxygen
{units) bubbles producad

1] o

50 2

100 25

150 40

200 55

The above setup wilhoul the lamp was then placed In 2n open leld on & clear day.

Bazed oo the above experiment, which one of the following graphs, A, B, C or D, would
reprazent tha smount of oxygen produced from .00 a.m. to 6,00 p,m.7

Amount of oxygen

A) A
B) B
C) C
D) D
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Question 5 of 62 Primary 6 Science (Prelim) 2 pts

Flgures 1 and 2 belkow show the reproductive parts of a flowering plant and a female human
réspectively.

Flgure 2
Which two reproductive parts have similar unciions?

A) PandS
B) QandT
C) QandS
D) RandT

Question 6 of 62 Primary 6 Science (Prelim) 2 pts

The diagram below shows human reproductive cells, X and Y, undergoing a process du
human reproduction. AR i

Cell X

Which one of the Tollowing =tatemeants is Incomect?

A) The above process takes place before the baby develops.
B) The human reproduction cells above are undergoing fertilisation.
C) Cell X is produced in the testes while Cell Y is produced in the ovaries.

D) Cell X is a female reproductive cell and Cell Y is a male reproductive cell.
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Question 7 of 62

ClassMarker - Professional online testing

The diagram beiow shows Cells A, B and C.

Call A

Primary 6 Science (Prelim)

2 pts

Cell B

Cell C

Which one of the following statememnts best describesCells A, B and C?

A)
B)
C)
D)

All the cells above have a cell wall.

All the cells above can make their own food.

All the cells above are taken from at least two different organisms.

All the cells above are taken from different parts of the same organism.

Question 8 of 62

Study the tabla below.

Primary 6 Science (Prelim)

Atick () indicates tha presence of cerlain parls in Cells P, G and R,

Where are Cells P, Q and R likely to be found?

A)

B)

C)

D)

Cell P

CellQ

CellR

cheek

root

leaf

Cell P

CellQ

CellR

cheek

leaf

root

CellP

CellQ

CellR

root

cheek

leaf

Cell P

Cell Q

CellR

root

leaf

cheek
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Question 9 of 62 Primary 6 Science (Prelim)

2 pts

Jalme studied three animals, X, Y and Z, and recorded her obhservations in the lable below.

Observations Animal X | AnimalY | Animal Z
Lays eqgus o 7 v 7
Has threa body parts ' e

Young resembles adult v

Which of tha following could ba animals X, Y and Z7

A) [x Y Z

cockroach | butterfly |frog

B) (x Y Z

mosquito | butterfly | chicken

C) [x Y Z

butterfly | mosquito | chicken

D) |x Y z
butterfly | cockroach |frog

Question 10 of 62 Primary 6 Science (Prelim)

The diagram below shows the diffarant reproduction proceases that tha adult rosa plant
goes through.

Adult rose plant

Reproduction processes

s

Young rose plant i

Which of the following comecily stale the reproduction processes that the adult rose
plant goas through?

A) fertilisation ---> pollination ---> seed dispersal ---> germination
B) pollination ---> fertilisation ---> seed dispersal ---> germination
C) fertilisation ---> pollination ---> germination ---> seed dispersal

D) pollination ---> seed dispersal ---> germination ---> seed dispersal
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2 pts

8/59



11/1/21, 7:38 AM ClassMarker - Professional online testing

Question 11 of 62 Primary 6 Science (Prelim) 2 pts

The graph below shows the valume of blood passing through the small intestine during
resl and during exerclse over a perlod of time.

Vaolume of blood 4
passing through
small mlestine {unitz)

T ——

* Time (min)

Based on the graph above, how does axercising after a meal afiect the absorption of
digested food in the small inlesting?

A) Less blood flows to the small intestine so there is less absorption.
B) More blood flows to the small intestine so there is less absorption.
C) Less blood flows to the small intestine so there is more absorption.

D) More blood flows to the small intestine so there is more absorption.

Question 12 of 62 Primary 6 Science (Prelim) 2 pts

Mr Mohammad removed the outer ring of the stem of a plani in a gerden as shown in the
diagram balow. He continued to water the plant daily.

¥Which of the following would be tha most fkely observation(s) of the plant after several
weeks’

A Leaves P died,
B Part K swedled.,
c The whole plant died.

A) Aonly

B) Bonly

C) AandBonly
D) A BandC
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Question 13 of 62 Primary 6 Science (Prelim)

The classification chart befow shows how some plants are grouped.

Plants
'_ Flowering Non-flowering
l
I
X Y bird's nest fam
banana tree angsana free e
tomato plant shoraa

VWhich of the following headings correctly represents X and Y7

A) |x Y

Bear fruits | Do not bear fruit

B) |x Y

Dispersed by water | Dispersed by splitting

C) |x Y

Reproduce by seeds | Reproduce by spores

D) |x Y

Dispersed by animals | Dispersed by wind
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Question 14 of 62 Primary 6 Science (Prelim) 2 pts

Tha diagram balow represents the human digestive system.

Based on the diagram above, which of the following stalements about parts W, X, Y and Z

are cormaci?
A Digestion ls completed at part Y.
B Digestion of food staris at part Z.
C Food moves down part W into part X.
o Wator ks absorbed inlo the body at part Y.

A) AandBonly
B) CandD only
C) B, CandDonly
D) A, B,CandD
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Question 15 of 62 Primary 6 Science (Prelim) 2 pts

Jacob ussd different containars and poured different volumes of waler st 27 °C indo the
conlziners as shown in the table befow. He then placed tha sst-ups, A, B, C and D, in the

gardan,
Volume of water: 140 my Volume of water: 400 my
10 em ) 10 cm
:.'.-. e > e e e
s e
Set-up A Set-up B
Velume of water: 140 mi Volume of water: 460 mi
& om
Set-up C

Which one of the following statemend is comact?

A) Water in set-up A has the same rate of evaporation as water in set-up C.
B) Water in set-up C has the same rate of evaporation as water in set-up D.
C) Water in set-up A has a greater rate of evaporation than water in set-up B.

D) Water in set-up D has a greater rate of evaporation than water in set-up B.
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Question 16 of 62 Primary 6 Science (Prelim) 2 pts

A bowd of ice was placed In a reom at 27C,

Mary obzervad the cup after 5 hours, Which one of the following is cormact?

A) |Observation Explanation

The ice cubes melted. | The ice cube lose heat to the water.

B) |Observation Explanation

The ice cubes did not melt. | The ice cube lose heat to the room.

C) |observation Explanation

The ice cubes melted. | The ice cube gained heat from the room.

D) |observation Explanation

The ice cubes did not melt. | The ice cube gained heat from the water.
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Question 17 of 62 Primary 6 Science (Prelim) 2 pts

Sally placed an inflated balloon with a ballin it and 2 bag of ice on a beam balancs undar
the hot sun. The sel up was balanced at the start of the experiment.

balloon with
2 ball bag of ica

She recorded her observation afler 3 hours.,
Which of tha following statement{s) Isfare possible observation(s) after 3 hours?

A The balloon expandad

B The set-up remained balanced.

c Tha side of the beam balance with the balloon moved downwards.,
D Tha sida of the beam balence with the bag of ice moved downwards,
A) Bonly

B) AandBonly
C) CandDonly
D) A, CandD only
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Question 18 of 62 Primary 6 Science (Prelim) 2 pts
Study the circult bodow.
il
A B
R

After ane of the biilbs had blown, all the other bulbs did not Bght up. Which bulb had blawn?

A) A
B) B
C) C
D) D
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Question 19 of 6

2

ClassMarker - Professional online testing

Primary 6 Science (Prelim)

2 pts

Tom placed different materials, F, Q, R and S, mndomly in posifions X, Y and Z as shown

balow,

@E‘J

1 ! [' X
B4
& 7 v
B3 E
Hz
He: than recorded his cbservations in the abls balow,
Position X | Position ¥ | Posifion Z | Bulbs that lit
ST o R B2 and B only
o R 5 B1, B3 and B4 only

Which of the following commectly represents P, Q, R and 57

A) |p Q R |S
copper | plastic | iron |wood
B) |p Q [R |s
copper |iron |wood | plastic
¢ P |a R s
wood | plastic | copper |iron
D) lIp |a R S
wood |iron | plastic | copper
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Question 20 of 62 Primary 6 Science (Prelim) 2 pts

Four objects of different mass, P, 0, R and 5, are hung above the ground wsing skrings of
differant lengths &s shown in the diagram below.

Yy F F 3 r
1
£ e 1.8m 1.2m |
via %
k q 5
J kg , ]
P 10 kg
[
growumnd

Which object has the most potential ensrgy?

A) P
B) Q
C) R
D) S
Question 21 of 62 Primary 6 Science (Prelim) 2 pts

Ahalllal point X wasg refeased and & rolled down the ramp past poind Y and came to a stop at
point

pait X

ball L—\\\\

point Y point £

Which of the following statements are comect based on the above set-up?

A The ball has the most kinetio energy at Y.

B The ball has less polantlal energy at 2 than at'y.

C The ball has the maost polential enengy at X before it was releasad.
D The ball has less kinelic energy at 2 than at X before it was released.
A) Bonly

B) B and D only
C) Aand Conly
D) A, CandD only
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Question 22 of 62 Primary 6 Science (Prelim) 2 pts

Joyce pushed a toy, which was attached o a spring, as shown in figure 1. When she
remroved her hand, part X of the foy jumped up as shown in the figura 2.

Figure 2
Which of the foliowing shows the comect main energy converslons?

Joyca pushing the toy Compressad spring Part X jJumped up

A) Joyce pushing the toy Compressed spring Part X jumped up
heat energy -——-- > potential energy ----- > Kkinetic energy

B) heat energy -------- > kinetic energy ------- > kinetic energy + heat energy

C) kinetic energy ------- > kinetic energy -------- > potential energy

D) kinetic energy ------- > potential energy ------ > kinetic energy + potential energy
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Question 23 of 62 Primary 6 Science (Prelim) 2 pts

Emest placed two simllar ring magnets, P and Q, nto a wooden holder as shown balow.
He observed a dislance, d, betwesn the two magnets. Then he added a matal ring, R, into
the holder above magnet Q.

woodan holder——

Q R

P

YWhich of the following explains comactly the possible obsanvalions he could maka
about distance, o7

A) |Observation of d Explanation

increases Magnet Q repels ring R

B) |Observation of d Explanation

decreases Magnet P repels ring R

C) |observation of d Explanation

decreases Ring R adds weight to Magnet Q

D) |observation of d Explanation

remains the same [ Magnet Q attracts ring R
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Question 24 of 62 Primary 6 Science (Prelim) 2 pts

The diagram below ehows Wayne and his sister playing table-lennis,

The ball bounced on the lable and was moving towards Wayne. He hit it with the bat.
Basad an tha diagram abova, which of the following statements are comect?

When Wayne hits the ball, it will {otally stop moving.

Wayne has to exert a push force on the ball to hit it back to his sister.
The ball exerted a push force on the table to bounce lowards Wayne.,
The ball will continue to move at the same spaad when Wayne hits it
harder than his sister.

DOo>e

A) A and B only
B) B and C only
C) A, CandD only
D) B, CandD only
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Question 25 of 62

Primary 6 Science (Prelim) 2 pts

The set-up below shows light shining on threa sheets, P, Q and R, made of differant malarials,

in & dark room. Only one sheet allowed mosl light fo pass through, Each shest has a hole of
the same haight cut out in & difierent shape.

lif Eorch

‘_h

Sheat P Sheet

height of hole

&Y does not allow light to
pass through

allows most light to
pass through

A)

B)

Sheat R

The diagram below shows the shadow seen on the scraen,

dark patch

patch of kgt

stredn

Which of the follewing arrangements will enabla the shadow above 1o be seen on the
screen’?

Sheeot P

Sheet R
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Question 26 of 62 Primary 6 Science (Prelim) 2 pts

Ramesh placed 3 mirorz In 2 set of connected pipes. He looked through different pipo
openings to find out if he couwld sea the apple on the opposite side using the mimors.

itor <

Inwhich of the following set-ups will he be able to see the apple?

®
o
— p
X
)=
O__ 20

https://www.classmarker.com/a/tests/test/print/?test_id=1832468 23/59



11/1/21, 7:38 AM ClassMarker - Professional online testing

v —
> —"

Question 27 of 62 Primary 6 Science (Prelim) 2 pts

Billy placed an emply round-totiom {lask Into a basin of kza cubes as shown in the diagram
below. The Nlazk was filled with a siopper where a glass tube was inserled. He added & drop
of ink Into the glass tube.

After 20 manutes, he cbserved that the drop of ink had moved down the glass tube.

T e

Which one of the folowing explains his observalion?

A) |Airin the flask Ice Cubes

gained heat and expanded | gained heat

B) Air in the flask Ice Cubes

gained heat and expanded |lost heat

C) |Air in the flask Ice Cubes

lost heat and contracted | gained heat

D) |Airin the flask Ice Cubes

lost heat and contracted |lost heat
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Question 28 of 62 Primary 6 Science (Prelim) 2 pts

A block of ice was placed in 8 wooden box as shown in the diagram befow.

pﬂm

“ S

& 2

ey e

o o block of ice
T e iy
bl A R A Z.

Which cne of the following statements best explains why the block of fee melled slowly?

A) The wooden box is a good conductor of heat.
B) The air in the wooden box conducted heat away from the ice quickly.
C) The heat in the wooden box could not escape tot eh surrounding air outside the box.

D) The wooden box slowed down heat gain by the ice from the surrounding air outside
the box.

Question 29 of 62 Primary 6 Science (Prelim) 0 pts

Xinyi setup her new aquarium next to the windowiin her badroom as shown in Figure 1
below.

Figure 1 Figure 2

Her mothar sheorvad at the fieh ramained at tha sufacs of tha water mest of the Sme and
suggestad that Ximyl put some water plants, as shown in Figure 2, into the aguariom,

Describe the process of photosynthesis carried out in green plants. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 30 of 62 Primary 6 Science (Prelim) 0 pts

Jﬁ'll:.-'i selup her new aquarum next to the windowiin her badroom as shown in Figure 1
below.

Figure 1 Figure 2

Her mother sheorvad that the fish ramained at tha suface of tha water mest of the ime and
suggestad that Ximyl put some water plants, as shown n Figure 2, into the aguariom,

Other than being a source of food and shelter, explain how her mother's suggestion would
help the fish in the aquarium survive better. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 31 of 62 Primary 6 Science (Prelim) 0 pts

Kinyi selup her new aquarnum next to the windowiin her badroom as shown in Figure 1
below.

¥

Figure 2

Her mother sheorvad that the fish ramained at tha suface of tha water mest of the ime and
suggestad that Ximyl put some water plants, as shown n Figure 2, into the aguariom,

Flgura 3 balow shows a lenl pitched on a fiold. After a wealk, the tant was ramovad. It was
obsenved that the grass growing In the area, whene the tent had bean pitched, had urnad
brown and died as shown in Figure 4.

surrounding
groemn grass
paich of
dead grass
Figure 3 Figure 4
Explain why the grass under-ihe tent died. i1

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 32 of 62
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Primary 6 Science (Prelim) 0 pts

;’I:E dia;bm'am below shows the life cycle of mosquito X, which spreads a virus that causes
2353 .,
£gg

~ -
adult larva
pUpa
Some scientists kept these mosquitoes al different temperatures and recorded the duration
of each stage of the'r e cycle. The resulls are shown in the table below.

Duration of stage at different temperatures (days)
28°C 29°C 30°G 31°C
Eag 3 2 2 2
Larva 8 7 & 5
Pupa 2 2 2 1

State the effect of temperature on the length of the life cycle of mosquito X. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 33 of 62

ClassMarker - Professional online testing

Primary 6 Science (Prelim) 0 pts

;I':E: dia;bgam below shows the life cycle of mosquito X, which spreads a virus that causes
53 .
L d L]

7Y
adult lana
S
pupa

Some scientists kept these mosquitoes al different temperatures and recorded the duration
of each stage of the'r e cycle. The resulls are shown in the table below.

' Duration of stage at different temperatures (days)
28°C 29 anec bk
Eag ) 2 2 2
Larva a 4 6 5
Pupa 2 2 2 1

The graph below shows the average monihly temperature in Singapore In 2019.

Tm'rq]m:!h]ml: )

Fu

il h

Jﬂrﬁwwmnumwmmuuc

Based on the information above, would there be more cases of illness P between January
and June or between July and December? Explain your answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 34 of 62
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Primary 6 Science (Prelim) 0 pts

;I'QE di?:?'ﬁm below shows the life cycle of mosquito X, which spreads a virus that causes
os5 P.
L d L]

7N
adult larva
“@‘P/
pupa

Some scientists kept these mosquitoes al different temperatures and recorded the duration
of each stage of the'r e cycle. The resulls are shown in the table below.

' Duration of stage at different temperatures (days)
28°C 29 anec bk
Eag ) 2 2 2
Larva a 4 6 5
Pupa 2 2 2 1

The graph below shows the average monihly temperature in Singapore In 2019.

Teamperziome {*C)
F

iy ek MAT AT MEY  EE ad AUE  Sip Mk  Ho¥  OeC

e i | e S e W B e e b e 3 _._.,
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The diagram below shows part of a poster displayed in a neighbourhood with a high mumber

of cazes of lllness P

Common mosquito breeding habitats
in and around homes include domestic
and ornamental containers

I =

Based only on tha objects shiwn above sugges! one way residents in the
neighbourhood can play a part in reducing the breeding of mosquitoes.

This question is designed for extended answers that parent/ teacher will have to assign and

guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as

it was designed in such a way that it requires manual assistance.
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Question 35 of 62 Primary 6 Science (Prelim) 0 pts

The diagrams below show flowers X and Y.

Which flower, X or Y, is most likely pollinated by wind? Give a reason for your answer. (1
mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 36 of 62 Primary 6 Science (Prelim) 0 pts

The diagram below shows fruit Z that Lucas found at the beach

water_pm-uf outer fibrous husk

covenng ‘\

Fruit Z

Explain based on the characteristics of fruit Z how it can be dispersed by water. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 37 of 62 Primary 6 Science (Prelim) 0 pts

Lucas removed ali the plants in his garden. He then planted two rows of sunflower plants only,

in his garden. After three weeks, ha noficad that there wore farns growing near his sunflowear
plantz az shown In the diagram below.,

Explain how the ferns started growing in his garden. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 38 of 62 Primary 6 Science (Prelim) 0 pts

Lucas remaoved ali tha plants in his garden. He then planted two rows of sunflower plants only,
in his garden. After three weeks, ha noficad that there wore farns growing near his sunflowear
plantz az shown In the diagram below.,

Why is it important for Lucas to remove the ferns. (1 mark)
This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 39 of 62 Primary 6 Science (Prelim) 1 pt

The graph below shows the changes in Samuef's heart rate before, during and after
exercising. He only exercised for 20 minutes.

Heart rate (beats per minute)
4
120] ————crmn iyt s o g
110f o9 R
100f omeie o

B | rs i i e TREARL. RS

80
F! k‘*vr
70
| T T T Tirne f_‘l'ﬂ]l"ll.ltﬁ}
10 20 30 40 S50

At which point, P, Q, R, S or T, did Samuel start exercising?

Point
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Question 40 of 62 Primary 6 Science (Prelim) 0 pts

The graph below shows the changes in Samuel's heart rate before, during and after
exercising. He only exercised for 20 minutes.

Heart rate (beats per minute)
4

120
110
100

70

| T T T Tirne {Tﬂ]ﬂmﬁ}
10 20 30 40 S50

State how his heart rate changed when he exercised. Explain why? (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 41 of 62 Primary 6 Science (Prelim) 1 pt

Twao while flowers-wers placed In blue-ocoloured-water for threa houra,
After fhiree hours, the white: flowers tumed blua. The stem was cutand it was noticed that part
P lumed blue while part Q did not, s shown in the diagram below,

—= 2 did not turn blug

Cut section of the stam

Identify part P.
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Question 42 of 62 Primary 6 Science (Prelim) 0 pts

Twao while flowers-wers placed In blue-ocoloured-water for threa houra,
After fhiree hours, the white: flowers tumed blua. The stem was cutand it was noticed that part
P lumed blue while part Q did not, s shown in the diagram below,

—= 2 did not turn blug

Cut section of the stam

Explain how the white flowers turned blue. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 43 of 62 Primary 6 Science (Prelim) 1 pt

Twao while flowers-wers placed In blue-ocoloured-water for threa houra,
After fhiree hours, the white: flowers tumed blua. The stem was cutand it was noticed that part
P lumed blue while part Q did not, s shown in the diagram below,

—= 2 did not turn blug

Cut section of the stam

What substance did part Q transport?
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Question 44 of 62

Jia Rul poured an equal amount of digestive juice into 2 test tubes, A and B. She added 2g
af food to each test lwbe. The food that was added o test ube B was cul intofsmaller pleces)

ClassMarker - Professional online testing

Primary 6 Science (Prelim)

as shawn in the diagram balow.
-] digestive |-
juica
2g of foed (P L 25 of food in
A B smaller piaces

Adfter 2 hours she remioved the undigested food pieces lefl. dried them and welghed them,

She recorded the results and repeated the experiment for another iwo times}as shown in

the table befow.
Mass of food left after 2 hours {g) =2
Tect tube 1 try 2™ try 3 try
A 1.9 1.8 1.9
E 0.7 0.7 0.9

What was the aim of Jie Rui's experiment? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and

guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as

it was designed in such a way that it requires manual assistance.
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Question 45 of 62 Primary 6 Science (Prelim) 0 pts

Jia Rul poured an equal amount of digestive juice into 2 test tubes, A and B. She added 2g
af food to each test lwbe. The food that was added o test ube B was cul intofsmaller pleces)

as shawn in the diagram balow.
-] digestive |-
juica
2g of foed (P L 25 of food in
A B smaller piaces

Adfter 2 hours she remioved the undigested food pieces lefl. dried them and welghed them,
She recorged the results and repeated the experiment for another two timeslas shown in

the table befow.
Mass of food left after 2 hours {g) =2
Tect tube 1 try 2™ try 3 try
A 1.9 1.8 1.9
E 0.7 0.7 0.9

Give a reason why it was important for the food pieces to be dried before weighing them. (1
mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 46 of 62 Primary 6 Science (Prelim) 0 pts

Jia Rul poured an equal amount of digestive juice into 2 test tubes, A and B. She added 2g
af food to each test lwbe. The food that was added o test ube B was cul intofsmaller pleces)

as shawn in the diagram balow.
-] digestive |-
juica
2g of foed (P L 25 of food in
A B smaller piaces

Adfter 2 hours she remioved the undigested food pieces lefl. dried them and welghed them,
She recorged the results and repeated the experiment for another two timeslas shown in

the table befow.
Mass of food left after 2 hours {g) =2
Tect tube 1 try 2™ try 3 try
A 1.9 1.8 1.9
E 0.7 0.7 0.9

Based on the result of her experiment, explain why chewing is an important process that
helps digestion. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 47 of 62 Primary 6 Science (Prelim) 0 pts

Selina bought & cup of hot coffee Some mist was seen when shea took the cup to her seat as
shown in the diagram below,

i

cup of coffes

Explain how the mist was formed. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

Question 48 of 62 Primary 6 Science (Prelim) 0 pts

Selina bought a cup of hot coffee Some mist was seen when she took the cup lo her seat as
shown in the diagram below,

Explain why the mist disappeared after a short time. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 49 of 62 Primary 6 Science (Prelim) 0 pts

Le ¥i set up a simpie fire alarm system in her restaurant. She used a metal rod, alerm P and
soma wires as shown below. The melal rod expands easily when heated,

wall

electrical
contact J

She then tested her alarm system by healing the meatal rod to different temperatures. She
recopded her resulls in the table below,

T T 5 A
10 Off
an Y
Bl On

Explain how the system works when the temperature is above 80 C. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 50 of 62 Primary 6 Science (Prelim) 0 pts
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Le ¥i set up a simple fire alam system in her restaurant. She used a metal rod, alerm P and
somea wires as shown below, The melal rod expands easily when heated.

She then tested her alarm system by healing the matal rod to different temperatures. She
recordied her results in tha table balow,

mﬁ%ﬂ Alarm P
0 Off
= o
B On

Le ¥i then wanted 1o create & it up sign board for her restaurant se shown below.

NYPS

She uzed one light bulb to light up each letter, N, ™", 'F and 3",

=

Her circult must be able 1o do the following:
# i pne bulb fused the cibers would still ight up.
= The entire sign is contralied by a single switch,

Ciraw the circult diagram for her sign boand, 2]

!

CAFE
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This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

Question 51 of 62 Primary 6 Science (Prelim) 0 pts

Al wound up a toy car. Upon releasing il, the 1oy car moved forward for a shorl dislance
befora stopping at point X, He measured the distance, d, that the car had moved,

Stata the main energy conversions starting from All winding up the oy car to the car
moving across the floor . [1]

(Winding up the toy car) (Spring in toy car) {Moving toy car)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 52 of 62 Primary 6 Science (Prelim) 0 pts

Al wound up a toy car. Upon releasing i, the toy car moved forward for a short dislance
befara stopping at point X, He measurad the distance, d, that the car had moved,

Ali then applied a layer of oil on the surface of the table.

Explain, in terms of energy why the car moved a longer distance with the layer of oil on the
surface of the table. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 53 of 62

Al wound up a toy car. Upon releasing i, the toy car moved forward for a short dislance
befara stopping at point X, He measurad the distance, d, that the car had moved,

ClassMarker - Professional online testing

Primary 6 Science (Prelim)

Ali then observed how the number of times he turns the key affactad the distance travelled

by the toy car. His resuks ara shown in the lable below.

Number of turns | Distance travelled by the toy car {cm)
1 F.
2 5
3 12
4 1G

What is the relationship between the number of turns of the key and the distance the toy car

travelled? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and

guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as

it was designed in such a way that it requires manual assistance.
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Question 54 of 62 Primary 6 Science (Prelim) 0 pts

Al wound up a toy car. Upon releasing i, the toy car moved forward for a short dislance
befara stopping at point X, He measurad the distance, d, that the car had moved,

Ali then observed how the number of times he turns the key affactad the distance travelled
by the toy car. His resuks ara shown in the lable below.

Number of turns | Distance travelled by the toy car {cm)
1 F.
2 5
3 12
4 1G

Ali discovered that when he turned the key 5 times, the distance travelled by the toy car was
0 cm. State a reason for his observation. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 55 of 62 Primary 6 Science (Prelim) 1 pt

Colin conducted an experiment on a plastic table top using the set-up shown in the diagram

below.
n.rbbarxnerrd xx‘
" .. $. heiant of swing
malz ball
o
l _! plastic fable

Colin pulled a rubber band back with a marble before releasing it. The marble rollad
forward and hil the metal ball. The motal ball then swing up. He measured the helght of the

swing and recorded his results. Then, he added substance X 1o the table and repeated the
experiment, using the same maberials.

Height of swing of metal ball {cm)
Table 1* reading 2™ reading 3 reading
Wilhout substance X i 5 i
Wilh substance X 5 B I 3

State the force the stretched rubber band possessed just before it was released. (1 mark)
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Question 56 of 62 Primary 6 Science (Prelim) 0 pts

Colin conducted an experiment on a plastic table top using the set-up shown in the diagram

below.
n.rbbarxnerrd xx‘
" .. $. heiant of swing
malz ball
o
l _! plastic fable

Colin pulled a rubber band back with a marble before releasing it. The marble rollad
forward and hil the metal ball. The motal ball then swing up. He measured the helght of the

swing and recorded his results. Then, he added substance X 1o the table and repeated the
experiment, using the same maberials.

Height of swing of metal ball {cm)
Table 1* reading 2™ reading 3 reading
Wilhout substance X i 5 i
Wilh substance X 5 B I 3

Base on the results explain in terms of forces the effect of substance X on the height of
swing of the metal ball. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 57 of 62 Primary 6 Science (Prelim) 0 pts

Colin conducted an experiment on a plastic table top using the set-up shown in the diagram

below.
n.rhbarxnerrd xx‘
" . $. helaht of swing
malz ball
o
l _! plastic fable

Colin pulled a rubber band back with a marble before releasing it. The marble rollad
forward and hil the metal ball. The motal ball then swing up. He measured the helght of the

swing and recorded his results. Then, he added substance X 1o the table ard repeated the
experiment, using the same maberials.

Height of swing of metal ball {cm)
Table 1* reading 2™ reading 3 reading
Wilhout substance X i 5 i
Wilh substance X 5 B I 3

Explain, in terms of forces, why Colin must stretch the rubber band to the same point in
order to make it a fair test. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 58 of 62 Primary 6 Science (Prelim) 0 pts

A store owner wanted to coun! the number of people entering his slore, He sef up a light
‘source and a Bght sensor al the slore entrance as shown below.

fight sensor
1.8 m connected
toa
datalogaor

The doata recorded for & minutes is shown in the graph below.

Amount of
light detected |—rt—7—
by the senseor
{units)

for—as y—

e =T Time (min)

(1]

Using the set-up, explain how the store owner could count the number of people entering the
store. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 59 of 62 Primary 6 Science (Prelim) 1 pt

A slora cwner wanled to counl the number of people entering his slore. He set up a light
sourca and a fght sensor al the slora entrance as shown below.

fight sensor
1.8 m connected
toa
datalogger

The doata recorded for & minutes is shown in the graph below.

Amount of
light detected | —t——— e
by the senseor
{units)

for—as y—

e e 5— Time (min)

(1]

Based on the results above, how many people have entered his store in the 5 minutes?

people
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Question 60 of 62 Primary 6 Science (Prelim) 0 pts

A slora cwner wanled to counl the number of people entering his slore. He set up a light
sourca and a fght sensor al the slora entrance as shown below.

fight sensor
1.8 m connected
toa
datalogaer

The doata recorded for & minutes is shown in the graph below.

Amount of
light detected |—rt—7—
by the senseor
{units)

for—as y—

e =T Time (min)

(1]

The store owner realised that his set-up could not count all the people entering the store.

Using the same materials suggest what he should do and explain how this method ensures
that every person entering the store can be counted. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 61 of 62 Primary 6 Science (Prelim) 0 pts

Saly poured an equal valume of water at 90°C into wo glasses, A and B. Glass A is single-
|layered whila glass B g doubla-layared with an airfilled space in babwaan,

— auber glass

inner glass

—— gir-filled space

After soma ime, she maasured the tempersture of the water in both glasses.

Explain why the water in glass B was hotter than the water in glass A. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 62 of 62

Primary 6 Science (Prelim) 0 pts

Birds maintain a higher bedy temperature than their sumoundings. In colder months, they
ara abserved to ruffle up their feathers to kesp thamsealves wanm.

alr SpAces
between feathers

Suggest how ruffling up their feathers help ta keep birds warm. 2]

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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